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Duration: 3 Hours

N.B.:1)Q.1. is compulsory.

2) Attempt any three from the remaining.

X

c) Find the projection of u=(3,1,3) along"and,pe‘rpehdiéular to v‘=,(2i,b-2’,‘;2)A ‘

d) Find the extremal of I(yz e

& x

Rellpradl/ban e
Q.2.a)lf4 = , find
[1/2 3/2J

b) Evaluate | — R o o, AN (6
(8)
(6)
4 | and hence find 4™ & 4° (6)
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(6)
(6)

(8)
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Q.5. a) Using Residue theorem evaluate J
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AX which carries X, = (1,0,1)', X ;= (1,~ I,

b) Find the linear transformation Y

onto ¥, = (2,3,-1)",7, = (3,0,-2)', ¥, = (-2,7,1)’

R s a vector space with respect to the oper

ations

c) Check whether v

(x,0) + (x,,0) = (x, + x,,0); k(x,,0) = (kx,,0)
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given »(0) = y(1);
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